
.{6TFI qrHfrfrdg

EW $qL uESE r

{,{ 3 qb.tC.oooo.ooO.8o.ooq.5U- $6 rrtRrtcoq/or/lo)u&r

LtEqtil fifiTtsm {<rrq< q{"ilb s "rrEfr <rq.{i,r]qc"rd grlt qlqlrql {rR c{, ss c$l*Ilfif{ EBEFI €

?<*rnffisr, FirEE ffirfi{ fr<tqgt <Fqr ftfi{gtrq qfr<I cs?-<qK e {<Nu s<lit otrs.l-ffi fimqir{q
{?fFrq-\rl1-{ s {6+sl< qFGI elfflTo{cE{rq 

I

)) ffi 6q{r:= \s flil-E{ c"t{ts w{qt <fl {lYtrre Er< I

l) <fie"iE/ q"r{I,ft / mwrq {E qRI'i cq"fi T-{rs Dr{ urK {qfu <i&E ('iiB"tH tw q-<t {Irq rT 1 Qr{lwi

6p6E 6ffi"tt-t t{K "K vtcvr< qrq gl..trd( frfrcs fr-<tqq -llrfi q'f.flftq< (visitors) qRbr{ qqBs

+$,sqm $<r< q<( rr<s $s{K wm E-s cfiD "n{ e B&trsq oM'wt frrs r

'g) <Rxrto/q{*Q}/crffir+{ ff1q c+T{ SlFr$Qq <t "BtrsB 
qpaaa 6'itF qH t{={ T'( Eq flEI-{ ffiA{

s[$ F11{$ "tr{T <,9i<' rem{I q<rs q6a r c+r{ 31p/Etqr$fi/1rir-sB/sfirl<Timrffii{Rfi( tffi
cfl{ q<Ercgq grr-i< Gs< fi$ {lr< rT q<q qfrq ts Tflrts emrr$ "I( flBIE ffi6( EIil fi<I"rcl
-fiyll $b3, ffiS \oqlfi} s<C\o qr< 

I

B) qq c+p"nfr{ uftfl{ \s r€rrfiqt, Fr-{E fllrs rK<FTqt'g \i s{Ts 6rcffi fre{ {HEH q{c fi-ff"rsT

4:g ffivu<aetc< sgffi qesrE "K d|c< ql'rrr\e- sr< r

r ) {rl.ncrffi qfuk-s, 
"rft frE-s1{ sffi Els glrr$( &rcr< w<erq q{N "tKr{ 4l q<\ qcvIsfr fT-s Sirs

€fr<r.K g{ F<tqsr mI $Yr {ell{Rl-st-fi cu"s <r{cg qr< r st qrcal frffi .{&?tcr q\ftB Ers-( qffi,

eltsR \e rqE{Ir<{ qtq, wtstrrq q1ftq-{ rr{ \e \e-T[hr qrs-{ frm qcs 
r

s) q@ cst*fifu uEaN € ffifl, FrqE $rrn frHrCv xs ffi-o dft-r qfufr-{ {flrq frflqer 'n=Il

+Yo qqs dtrqq Qq"i e srqt eq'f{ T{o qft-{ € 3rt-s qrE{ o{rq '{<R 
qftq EE{ "K Es dTts-{

f*{TEtsT'11qH'qrifr-rs 1

q) "$rrs 
qfu qlEE, jqfrEfrB q4{, 

'ffiq FTqK ettE\ mffi{lft qqeE -nxtl $Y-s q{fl qrq <t$r -{sql

qqq+T6Eqrq 
I

u-) *1?r+tfrE qq( Rif{ ftq <5:fi+6r s 1ifl'qsT W<TIK s$s qsFr"s {Rn{rq< <I<qr sq{ {fi s[n(q r

qRffil cEtrts <frre c<&?tc< SIrB{ fr<ngr \e q{fl-{r frErs ENsFfs q-s<i Fft<q. +-{r{{ r

b) uB.AN flr-8( F=<rqsK frsm qPirqra afl:rl q<r. ?ffi-rfBqT, FrmB grr$( fi=<tqsm qq]' (rflFtl"lil@ ell{K

{tC{ qmtE{I3.TI qGrq r fi-<t"tet <I<-.{l ffiIW-|( q{K q(IFj elHI (qlrs flffis qqTrTfiET( E1-{fq {1v$
(ricq r uBflN, qPlrqs elf{f{ mlq IT{ s i8))oo q{<. funB, ({fEI'lrtS alHK m]-q' ItK. 3

o)q)e\eq8ebe . oE\lq-C g gq8

:o) r+Hik EhT{ s ?ffiHFEI, frcqts $ft-6 nfto q-sE sftFdl s {fr'-o rffi?q{ frw fiq' "tRbxfls
qrq; qr-{r;K w{T qF.ffi.{rcq 

I

))) rst*ilil-{ EBqT{ € h€fl"IFql, FrcEB flirfi{ {-f,{ dfrr r'ffiq( mI*tTft scq Eq€ Affiqs{
((tr{-s) qRqH ?F-{K q{r qr{rnt tlfrw 

I

)r) rq-flik DBqT.T € ffiflt, ffi gjlrD ilffi"{ ep4a fr<p1-s1"{iiEI {<fr\e e fifu"F{cs Er< I

tqe qtcet frfr s]lrq<t-< {IEI-({ FRvg]r< {F{stfs afisq6c1-a <r<q..s+l ril EC{rq I

B"ir<tBlQs qqffieiqqq frfl"r'$ .t1=11 $Ys qcfrT?fqrq qrqT q<'(g cC{ q<\ Csf"flfr{ uuqlq \€

f<qIqEEI, ftceB $t--fi{ n+q sftF\fl s ctfuo-offir{qr+ egfr'ffi sfts {6s
qqrq{c-{](+3.1{I[q 

r

( 6:il3

s={-

"ir$ <I<EIfl{l

Ii,c-{"i s qqrT q{'"11b( q-{, 
r

)) ,rE.{,4\Erfi't (qCIfr{'N+r{ns"r'{, utqiq r

q) 's{ftFr6 +{-86, tftms {1ql , uB$q- qI"EK E](s emqfi]r <r<,q €rqfl{ qrl 
I

u) Elftqm t{-fi-6, tqFfl$tq $-a1, ft6-{ts-qterql-s grc EmMft-tT <Fql€fqr;K qql l

vlFtf;t t
) ) <l<{"rdT qfrmr+ imB ntl?rg) , e"in&,{E- q"< 

"r<uiBE eII I

lfl)


